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1. 8BE2 IR

pI|I=28E A2AIEY 2 EEXNY 28 HE
HE g EXNREES ZSENFs HERCS
OHOICHA EIXIGIZ HE0| 40 SA AENME 1B(HRAER)(EE) A7041
OHOICHA HE0| Z3 DERAIEH(ZA) A9290
DHOICHA @SR =3 SEXME(HRA) 552 53840
OHOICHA EIXIGIZ HE0] 40 SR NEXNME 1S(HBAEE) C BT418
DHOICHA EIXGIZ2 20| 40 Z2 NEE 1S(MHES) Ce BT420
HEo £2 SEMHHEE, TIIE, E8Y, 2 XS ESEy=Psiel 2012.03.05
=IIE o2 L9
28272t 2019.06.05 ~ 2019.09.04 ZE=D|24 =49210] 92
a2 = 3| Al OLOICHA O A KAt 2 2 HETHALE 2t 3] AL KEBGILIS &
KBZ3, KEBSILI28, NHEXIESH,
DNEMASS J|dod (HASA,
e DICHOIAUCH, OlHOI ALY, S8 DE S -
EHOH S At AHSHA DS MEDSER, 20|28 QUBHALS 22| 3] A SHLUHE MHI A
SOEISH, SIUSEEX, S2EXNSH,
Sl H TS
Ol EXAIEIS £0Tto] LS M2 (HH|GHD| RS H20OIHSSHOR 5HH, EZ2HZ2 EXAIE Ao e
2SS ZEXNAEQ OI0ITHA SR S ZEXAE(THA) 0 60% 014, OIOICHANE0| S& 2SR E
ARG (=20l 40% 0I5HE EX6H0 2EXAIE0| EX6HE A L FACZEHO NH20ISH OIXH/HEASSE
d4&82 54 A= 2028 2HOZ SHLICH FAZHEE X BEQ = 22FaQl S M2 H|REH OIS Mat
(EventDriven, XI2HeH)E &2, FIIA4=2] S0l 2H GO0 O 22HUE =610, WARHEE
=3 S LA A= EXNE Set OHEHQI 0| & =242 =FELICH
> MHAS S
(SH9|: B4OHRI BHOLEL %)
HEHA st= Moy =Pl =2AE
KHat S (A) 4,493 4,361 -2.93
SIS H(B) 67 -100.00
EIANE40RH (HE)(R2R) = XHaHE M (C=A-B) 4,426 4,361 -1.46
ghel £01=2 £ £(D) 4,430 4,359 1.60
JIZEJHA (E=C/Dx1000) 999.10 1,000.56 0.15
KHat ZOH(A) 4,493 4,361 -2.93
SIS H(B) 67 -100.00
EANE40RH(HE)(RR) == XHAHE 9 (C=A-B) 4,426 4,361 -1.46
gheh ol=A = (D) 4,430 4,359 -1.60
JIZEJHA (E=C/Dx1000) 999.10 1,000.56 0.15
E=2(Class)g D=0t & &
EIHANE40XH (FHE)C JIZE A 996.99 996.34 -0.07
EIAN=40XH (RHE)Ce J|=0HA 995.69 995.70 0.00
F)JT|OHZ0I2 ENRIL S ENSAE L2(HY), ES(EMH)ots R F= 2HHS(MESSEE) 23 A0 E2- = Jt2A0=2
HEQ &=TAISME gallel £0=2 S542 UE JHAS YL
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SltotH A XHaH &

[¢]
£ Wse J120l, fIgH/Eae 880 20089 SR 017 HE22E
A2 LS ASLICH 8- FX/ZHE 2 S, 01-5 RS2 A5 S AR =440

=R
BHOIl =02 MEotlL, 0l= = ZEII(108-2E) Selot At AV I M KAt M ASLICH
HESd0l =2 285 2€ A2z dYFLILL oA 88 =NA A&HEHE 2

938 SAl= 0I-5 R4g4 ) FOMC 21 S0il [et
=0 HAIE U332 = SAl ==t 88 S=2H
et PSEE & FOMCOH HE Bsd clad=s &M

=2
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X
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PII2HSH) =2AE (S92 - %)
= X2 3 X2 6IE X2 9IS A2 12008
EIHNS40IM (R E)(RE) 0.15 0.06 -0.38 -0.01
(I Xl== CHHl A1) (-0.56) (-1.30) (-2.42) (-2.04)
Z=2(Class)e & &t
E| o1 H240RH (RHE)C -0.07 -0.37 -1.01 -0.84
(HI W XI=2= CHHl A1) (-0.78) (-=1.73) (-3.05) (-2.87)
€101 H240XH (RHE)Ce - -0.23 -0.81 -0.58
(HID X2 ChHl & D) (-0.71) (-1.59) (-2.85) (-2.61)
HI  XI Z= (81 X1 0t3) 0.71 1.36 2.04 2.03
ZF)BI L X 2=(HXI0L3): KOSPI X 4% + OHZBP SEMAKXI2 20T 1-2Y X 36% + [KIS SEHIIX=2=(1-2Y) X 55% + KIS SIIX%=(2-3Y) X 40% + CALL X 5%] X 60%
¥ 2 EXNAE2 UH HUE LIEHY 2 02He 2EHIUE PESI= A2 OtYLICH
= =214 x2 24 X2 34 %2 54
S| H240TH (HE)(2E) -0.01 0.83 - -
(HID X2 ChHl & D) (-2.04) (-3.24) - -
Z2=(Class)& & &
€101 H240XH (X sia)c -0.84 -0.84 0.67 3.07
(Bl X2 Tl & D) (-2.87) (-4.91) (-5.30) (-8.31)
€101 H240XH (RHE)Ce -0.58 -0.27 - -
(HI X2 ChHI & D) (-2.61) (-4.34) - -
HI W XI 4 (81 X10F3) 2.03 4.07 0.00 0.00
F)BI X 4=(HIXI0F3): KOSPI X 4% + OHZBP SEXAXI2 20T 1-2Y X 36% + [KIS SEI|XI4=(1-2Y) X 55% + KIS ZI|X%=(2-3Y) X 40% + CALL X 5%] X 60%
¥ 9 SXNAE2 3 J0E UEHE & 022 2E4UE B&0= A2 ot LICH
p =2 HE (Er9l: BHore)
= S O A S o S8 XA s ¢ ~ol=
T [Ea ] aa ] oe Jzeen] =2u | 2o | "% [FExa] om e A || ==erl
71 [ =101 ] 29 0 -2 68 0 0 0 0 1 0 —4
=9l -42 | 26 0 0 22 0 0 0 0 0 0 6
3. K g
b AR AEEE (Ehel: BHOtl %)
%i:é‘ _ =3 _ O A S N D%%IF& D= 2 et | garso
22 =4 T s ZEER [ ZLH Q| A2xtat  DIE o=
KRW 1,612 2,890 0 0 0 0 0 131 -272 4,361
(1.00) (36.97) (66.27) (0.00) (0.00)] (0.00)] (0.00)[ (0.00)] (0.00)] (0.00) (3.00)| -(6.24)] (100.00)
s 1,612 2,890 0 0 0 0 0 0 0 131 -272 4,361
«(D): EYETIES
& D) =
RtAHE H|IE Rrats 2H| S
7|5} : -0.07| 7|1E} T -624mm
SRS NS - 024 SHERNYS m3
S=RA 0 ESR T 0
sEM 0 2ear 0
OHEME 1011 Tenz T 5
TEER 0 GER 0
o2 0 ol = 0
peEs - I 5526 x-?i = S 55 07
Z Al B I 35 47 Z= Al _ I 36 57
-20 0 20 40 60 a0 100 -20 0 20 40 60 a0 100
p =L X&HE (EH9l: BHoral %)
SEE Ba _ nags [, [ sSeie DIHEL | g [ guzo
= FA ! Ha SEEX] EU 2 A S XHAH DIE o=
WamxE| 1,612 2,890 0 0 19 0 0 0 0 44 204 | 4.361
(0.00) | (36.97) (66.27) (0) (0) 0.43) | (0 (0) (0) (0) (1.01) (4.68) |  (100)
OHE 2 X & 42 0 0 0 0 0 0 0 0 0 0 42
(0.00) (100) (0) (0) (0) (0) (0) (0) (0) (0) (0) (0) (0)
=mxa | 1,570 2,890 0 0 19 0 0 0 0 44 204 | 4.319
(0.00) | (36.35) (66.92) (0) (0) 0.44) | (0 (0) (0) (0) (1.02) (4.72) | (100)




P FHBSE EXNHIS (Sl : %)
=2l EEE] b= =9 EEE b=
1 FOIE A 25.66 6 =89 6.26
2 S5 2| 13.44 7 R=9 5.77
3 T H/W 9.65 8 TS 4.91
4 o[t = 7.62 9 REESE 4.04
5 5rst 7.32 10 JIEt 15.33
> DIIE EXHHIS (S+9) : %)
=9 =0t o= =9 =g o=
1 TEEE 100
0 ' ' ' ' 25
> FAHEYE SXHIS ¢ 01 =(Short) Z X & (E+9l © %)
=2 EEL] o= =2 EEE] HE
1 T H/W 74.46
2 Sfer 25.54
FAAEE SXHH|F : (= (Shor) ZX| 4
IT H/W 74.4
=2
> SN 49 1053 (el - %)
=] e s=g HE [=9 = z=9 HIE
1 = = 101875-2203(16-10) 12.57 6 = A X CIAZSdI0132-2 6.17
> = JRYEETpN 8.00 | 7 R SR 36— 6.16
3 T &1 8t=28123-06-01-3-C 6.19 8 T2 A 0IH=813t=230-1 6.13
4 = A5t 28123-06-01-3-B 6.19 9 = & & e18-2 6.08
5 = SAUXIIBNENH616 6.18 10 JIE REPOOH =(20190904) 5.22
v 2 g BRE3S LY
> =4 (EhSl: 35, ot %)
==9 BR+g | Zoi=2% | W= 3=} =5 EE bl
SEEN 7.907 349 8.0 EEE KRW EOTE L
=) EXHA A 1052 L BIIZU0| HASNO| 5%S Eots FR JIM E= LFA 540 1% 21 52
> X CEETEA
EEE ociool [ ofo [ wrs=0r | sa | wad | ysd [ 20| [A8S3 | HIS
= 101875-2203(16-10) 535 548 CHerel= KRW [2017-03-10] 2022-03-10 N/A 12.57
A1 8t=2823-06-01-3-C 268 270 CHerer= KRW [2019-06-19| 2022-06-19 AAA 6.19
&1 8H28123-06-01-3-8 268 270 CHerer= KRW [2019-06-14] 2022-06-14 AAA 6.19
= Al UIO*BSXHEHEHES 268 269 CHerer= KRW [2018-08-27| 2020-08-27 AAA 6.18
AXCIASd0132-2 268 269 CHerer= KRW [2014-10-02] 2019-10-02 AA- 6.17
@3‘5‘?%“136 1 268 269 CHerer= KRW |2016-09-06] 2021-09-06 AAA 6.16
A 0lHI=8191=230-1 262 267 CHerer= KRW [2018-01-26] 2021-04-26 AA+ 6.13
& el18-2 257 265 CHerer =g KRW [2013-09-09] 2020-09-09 AA+ 6.08
=) SEXNHA &2 10852 L BIS U0 IMHAEHS 5%E =1ot= <R JIM



> JIE (Ersi: wiera)
== =0 i
REPOOH & 227
S NS S5 1052 2 BIISH0| NLEN0 5%E Z0o= F= I
o ) =
4. SXN228H20 88
> EN2EUSH(HEDLIXN) (E49): O, 4012l
2230 HE 5 SAUESIJUsE HE L AN A 2ERE e e _
<< S Bl = S - EFEE salssEs
SEe Y | o= | 56 | 12 163,068 Z 139,108 2709000201
ERE 2% | 40 | 15 104,178 1 55,607 2113000811
EIIES = | 38 | 2 59,133 0 2111000836
F) HE0| 3E SN BAE 20l RUEN2E0B00, HUEN=208 02 SN2e0s 5 ENAS 28 2 A AANZE
%0.” O|O-I $_Ex4o|j_ EH/\|7£||O| 91\%"% _/'\_EHSI.E XI.% [s] 313

Izt EEEERE]
2019.06.14~& MH =E8F
2017.11.24 ~ & 1 gty st
2018.03.16 ~ & TH 2014
2014.05.15 ~ 2019.06.13 2K &
2014.05.15 ~ 2018.05.28 RSS!
2014.05.15 ~2017.11.23 LEE
2014.05.15 ~ 2018.03.15 dE53
> o 22EES| Al
ENE | ATH | EPE HI D
OHEFALE 1S3
5. 4|8 &
> AXE B X3 SE (EH9l: eHoral %)
= &I Epl |
T = oH g [ = HIg *"
e 0 0.00 0 0.00
B 0 0.00 0 0.00
S REEENREER) 0 0.00 0 0.00
ENEREEN 0 0.00 0 0.00
= 48| 0 0.00 0 0.00
Sl =40XH (I E)(28) RS 0 0.00 0 0.00
CHEONO, SHE42 2 0.04 1 0.03
W ™ =a=see s
=i AHIA ~aa 5 0.10 2 0.05
- — =
ERl 7 0.14 3 0.07
=21 Al 8 0.17 3 0.07
RN 3 0.07 3 0.07
T OH 5] A 6 0.13 6 0.13
T C X &F 5 24 3] AR EFRT XY 0 0.01 0 0.01
ENERRER 0 0.00 0 0.00
=450 9 0.21 9 0.21
E[HAHF4024H1 (A=)C JIEHHI& *? 0 0.00 0 0.00
CE0H0H, EHE22 2 0.04 1 0.03
W T za=Rge =
=i PN 5 0.10 2 0.05
AAD = T T T
T ER 6 0.14 3 0.07
=21 Al 8 0.17 3 0.07




EET 0 0.07 0 0.07
I 0 0.07 0 0.07
BT R A2 2H5| AH(A EFRI X 0 0.00 0 0.00
ENEEPER 0 0.00 0 0.00
=38 0 0.14 0 0.14
E|HAHE402H (HE)Ce ETERS 0 ~0.01 0 0.00
T =R BT 0 0.04 0 0.03
=) EAZHYL S 0 0.11 0 0.05
;‘13 MEIA 242 : :
EEl 0 0.15 0 0.07
ESTSTETY 0 0.18 0 0.07
* HEO| =X AFS M (J|2HE & [HH| HI8S LIEFLICH
xx J|EIHI20/ 2+ B H AR, Z2 S9 o4|2+ U AHHIE S HOH M ZAN BI2NO2 XEE HEOZA HI-ZSHa222= M
Q8+ I LICY.
# HDBAUNS Y oS
LIRS MY s
b EE 4 HIEH|IE (S5l eteh %)
22 | 252 -HI=ZHISA) 7] - EH=220=2(8) 2 S A (A+B)
o | 0.0236 0.7053 0.7289
EHNH= 2)EE
[ASA0NH (W E)(E8) S| 0.0242 0.6141 0.6383
o | 0.8610 0.7059 1.5669
E¢AN= =
[A=Z40TH (M E)C =Pl 0.8617 0.6147 1.4764
o x| 0.5985 0.7102 1.3087
ElHN= =3
|21 HS40%H (T E)Ce =Pl 0.5988 0.6177 12165
F1) 22 -HI2HI2(Total Expense Ratio)0|2t 224 S HEWA 2S5ts '24'9 'JIEIHIS SHS XA OI T XK (44
2 XU IF)CZ2 U HIEB2H Y 22II2tE SN 2E6 & 22 -H24FS UEHYLIC
FO) HOH-ZH222 HISO0IR BHIH-SHAASE XA EAM(BAHE HAX IF)C2 U HISZAH 1Y 22124 = =
XXIOF S Est DHOH-SH 2220 22 LIEFYLICH
6. SXAALAOHOHLHS
> OHOHFA A2 L &S (CHSl: BHOrRl %)
TES e MEEER
32 = oK 2 = oH SHE oI 2F EET;
586,715 14,955 357,692 14,409 79.03 313.53
ESEMEREENE 6Ho 222t S St FADINO ZHS ) GlE 222 = 296 A0 BFIINUOZ L= HISYLICH
OHOHBI M B0l =2F N HH222(0.1% LHQ) L SAHMA(OHEAl 0.3%) LMO2 AR EXNKI S5 &= BHEH R0
=I}ELICE
> =2 3FJ| =4 OS] ™ E F0| (SH1: %)
2018-12-05 ~ 2019-03-04 2019-03-05 ~ 2019-06-04 2019-06-05 ~ 2019-09-04
156.04 132.48 79.03
7. RAISEAL] DS THA EXH0|| 28 ALEE
> DS A EXHO 28 ALEE () A, %)
HE Y | S XAl D] | EX3H $0l8 Hl D
ENEES
x1) 22 BI2RE DA LY JE
=X AHE!
Ol EDAES RH2AIFLO 5H OIOICHA EIXOI2 HE0| 40 S NHERAE 1S(HASE) ()2 XA 3| Al 0FOI CFA Off AL
A2 20| ZA5I0f HEX A 2E|AHAE A XNO KEBSILI2EO| 2012 20 20 S Z RIS Soll EXXH MEELICH
OF AR O EtE HEO| BMETIAS S| AHAI SR SH010|2t2 AR GELE Y 0|5 J|2H0 SH&HLICH
2t= B 0A &hol OOICHA I A REAF2 2 () http://www.midasasset.com/ 02-3787-3500
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